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Total No. 40

Math Sci 9: Test

Name: Roll No. :
Date: . -20 Teacher's Signature:

Q.1: Tick (v)) the correct answer. _q,"éutﬁ( (V)42 '] /:Ulr'
Distance between points S (-1,3) and R(3,-2) is: :‘aJ&GuyJ;LR(S,-Z)»IS(-1 3)b -1
V-3 (D) J13 (C) J41 (B) J2_ (A)
If three points lie on the same line, then these points are called: :ugZ.Uﬁl‘é m'uﬂdb/bu?.f J;Lauf/ .y,
Unparallel/$Ji5*# (D) Parallel/$Ji5* (C) Non Collinear/3¢4/Z (B) Collinear/t5% (A)
Distance between points (0,-5) and (0,0): e oblrnd (0,0)./(0,-5) b6 -3
25 (D) -5 (C) 5 (B) 0 (A)
A quadrilateral having each angle equal to 90, is called: :;.511;-( /{1 90,,,1;,‘-(;;’.,,5;.&1 -4
Rhombus/u"’ (D) Rectangle/J’bM (C) Trapezium/3Js; (B)  Parallelogram/{ w2 iiiis* (A)
Distance between points (0,0) and R(-4,-3) is: :4‘_.1-0suyﬂé(-4,-3)m(o,0)w3 -5
25 (D) > (C) -> (B) 7 (A)
A triangle is formed by ___ non collinear points: :‘LJ'*;wJ»(r/é_w.g -6
5 (D) 4 (C) o 3B ) 2 (A)
A closed figure consisting of three non collinear points is calleﬁ\o_/\ w :q_dtl{fﬁ:dbbtﬁbﬂ-fcf -7
Circle/s#s (D) Rectangle/ = (C) o jare/ts (B) Triangle/=4> (A)
Distance between points (0,0) and (1,1) is: M\Q\ e debylenl (1,1) 151(0,0) b6 -8
V2 (D) 20 X\0Y e 0 (A)
A triangle having all sides equal is called _ f_f? ) 2 du” u%cl/.dlrld/ cmuu;f;w,g -9
None s 4! (D) Equnateraucwmwu Jm‘g 5 Scalene / {uriid? (B) Isosceles / o~ LIGsLE (A)
Distance between points (1,0) and (0, =8 Sl ek (0,1) 4o (1,0) & 10
2 (D) ~\ X2 (©) | (B) 0 (A)
10x2 =20 Write short anw%o any ten (10) questions. -éx/’...,u;ai._,mmoc_df _24 )y
Define plane geometry an %%te geometry. -éw /U/ Sares S T 3ld/}>u'l' i
~ind distance between fol ng pairs of points: A4(2,-6), B(3,-6) Z(Pybuwiu,miw -ii
Define triangle. Sy Se s i
Define rectangle. ..é._.v/d/f'/ -iv
What is parallelogram? Q‘:_dflfcwmdﬂﬂ -V
Write down mid point formula of two points. ..u%mm/?}awdmaw Vi
Find the mid point between the points . B(7,2), A(9,2) U Sk _vii
-ind the mid point between the points A4(-3,1),5(6,1) . -u/pi’i!wdwﬁ A(=8,1),B(6,1) b5 _viii
Find the distance betwen the pair of points: (7,5),(1,-1) SRl bendl Usin b6 ix
What is meant by scalene triangle? Draw it. _Lbf*‘c_: e Bl uonsl  x
Find distance between points using distance formula: U (0,2) , V' (=3,0) :épbf,wumziuuf&,w;_ud/ Ut b el _xi
Define isosceles triangle. -ZJ/JJQ” LIgsLr  _xii
1x10=10 Write answer to any One (1) question. -“&{,I;ZKJI;«.{ :_.df (s

Prove that mid point of the hypotenuse of a right triangle is dib5 Qlen b sl eli s 26 L0025 w34
equidistant from its three vertices P(-2,5),0(1,3) and — R(=1,0) .y O(1,3),P(=2,5) 6 Us* L
R(-1,0) _é_,;yﬁubf
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Exercise 9.1

Q.1 Find the distance between the
following pairs of points
Solution:

(@)  A(9,2).B(7.2)

®
e

Distance =[x, — x| +|y, - »|

|4B|=/|7-9 +|]2-2|

4B|= (-2)" +(0)
|AB|= V4
|AB|=2

(b)  A(2,-6),B(3,-6)

Distance = ./|x, —x; r T ‘)“’2 — X |

48] 2 oo
"“Bl‘\/ﬂ)%(“w

|4B| = |J1+(0)
|4B|=1
AB = 1

(©)  A(-8,1),B(6,1)

Distance =. "IE — X, |2 "‘\}’3 N yl‘

|4 B|=/(6+ 8);3 +(1}}:

|4 B|=\J(14)
|4 B|=14

d)  A(-4~2).B(-4,-3

d= '\/Ix: — X ‘: T ‘y:' n J"rlll

N\

O@@

Q.2

48] -4 ]3]
45]= |(-4+4) +(-(3+2))

481=\(0) +(3+¥2)

4]= =3[ +-4- (10

3-3
|4 B|= J(0) +(~-4-+11)

Let P be the print on x-axis with
x-coordinate a and () be the point
on y-axis with y coordinate b as
given below. Find the distance
between / and O

Solution:

(1)

a=95b="7
Pis (9, 0)and Q (0, 7)

[P O] = J|0-9| +]7-0[
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(i1)

(iii)

(iv)

www.pakcity.org

P g_ﬁ}\:\/(—‘;i)fﬁ(?)E (v) a=+v2,b=1

P 0] = VB1+49 P(+2.0).0(0.1)
|7 O|=+/130 2
a=2b=3

P(2,0),0(0,3)

a=-8b=6

P(-8,0),0(0,6) ‘l‘

P 0] =7

] = .~ [+, -
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a=-2,b=-3

d| = \/Ixz — M I2 +|y, - » ‘2




Exercise 9.2

Q.1 Show whether the points with
vertices (5,-2),(5.4) and (-4,1) are
the vertices of equilateral
triangle or an isosceles triangle
P(5,-2),0(5,4),R(—-4.1)

Solution:

We know that the distance formula 1s

=ﬂ%—mr

We have P(5

I}’z: _}’tr

,—2),0(5,4)

5 5\"“" +]4—( 2)|3‘

P o-

IIIH o+

HE NN Ilﬂ'l i

MIIEII.I S
SREREN

! 1
-I"lll"

Q

ﬂ |
A [ ]

P 0= (6)
P o)=6
0(5.4). R(~4,1)

0 R|=J(-9) +
O R|=81+9

0 R|=+/90

O R|=9x10 =310
R(-4,1),P(5,-2)

|RP| = \[|5 -(-a4) +|-2-1f

[RP| = \J(9) +9
[RP| = \/81+9

|RP| =+/90

|RP| =+9x10 =310
|OR = PR

engths of triangle are equal

@ 1s a 1sosceles triangle
@é%
Q.2 Show whether or not the points
with vertices (-1,1),(2,-2) and

(-4,1) form a Square
Solution:
P(-1,1)Q(5,4)R(2,

2)S(-4,1)

- sandie IIE — K I: ¥ |}':.'-; - 3"1‘2

5—( 1)3|+|4_1|3
P 0| =I5+ +

P o|=6 +9

P Q‘=\/36+9

P 0| =45

P 0| =/ox5

P O|=35

0 R|=\la—5f +| 24

P ol-

> WwWWw.pakcity.org
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|O R| = \/(,.1)3 + ('6)1 Q.3 Show whether or nnt‘%%%ﬁ% sCity'mg
) ' with coordinates (1,3),(4,2) and

O R|=V9+36
(-2,6) are vertices of a right

- Rl e triangle?

¢ R' = V9% Solution:

0 Kj=3Vs A(13),B(4,2),C(-2,6)
‘R S‘ B \/I_d - zr*' s II N (__2)|"-=~ d = ‘I:-, — X |é + ‘J-«*: — W r
RS =(-6) +(1+2) =36+ (3) 48| = a1 +[2—3f

V36+9 4 B|=\0+1
4 B|=10
[ [eas “. B
MENEEE - LA T LINING
HEEEECTN ,gﬁgllﬂmm‘MH
NEEEERS ;\ﬂ HREEEREE
. E i | é\ﬂg .-I.i‘--.'
~ - P Tf 2 : ; ; | { . : |
, O - —
L aRNEEN o ZNEEENENEENE
S H P
: o L%KWI [ i
| ,='.- r_l...-l......
EEEEED y EEEEMEEEEEE
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= \l-2-4 +Jo-2f

BC

B C|=36+16

S P|={(-3) )

_ |B C|=+/52
s Pl=
[f all the length are same then it _
will be a Square all the length are CA=v9+9
not equal so it 1s not square. (' A|=+18

|P Q‘ = ‘Q Rl - |R Sl =S P | By Pﬂjhagnras ﬂ}EDrem ___
(Hyp)ﬁ :(Bﬂse)‘;’ +(Pelﬁp),¢.

(52 ~(Jis) +(si0)




2=18+10

52=28

Since 52 = 28

So it not right angle triangle.

Q.4 Use distance formula to prove
whether or not the points
(1,1),(-2,-8) and (4,10) lie on a

straight line?
Solution:

A(1.1). B(-2.-8).C(4.10)

R

Ll lyz — W

.

\ABI-—JI 2-1 +|-

|4 B|=/9+381
4 5= 50
|4 B|=/9x10
\A B\ 3f

o L ;

— _&.__ —e e _]___
: - | I : i )| B T = R r .

B

[

-'l.

=\(6) - (18)
B (Cl=+36+324
B (= J360

B C|=6410

4 C|= JJ4—1[ +1o—1]

4= \J(3) +(9)
|4 C|=V9+81

|4 C|= 50
|4 C|=V9x10

4 C|=310

310 + 3710 = 6410
610 = 6+10

It means that they lie on same line
so they are collinear.

Q.5

Find K given that point (2, K) 1s
equidistance from (3, 7) and (9.1)
Solution: M(Z K) A(B ?)a;ndB( )
(3,7)

(2, K) (9,1}

kmg square on both Side

-—14!{)” ....(

K*-14K+50=50+K*-2K

}/14xm;)6%+2f{_0

+R’ + 49

12K = 0

Y A
~12

K =0

Q.6 Use distance formula to verify
that the points
A(O-ﬁ?)?B(B,-S),C(-EEIS) are
Collinear.

Solution:

|4 B|=9+144
|4 B|=+/153

= \J9x17

A B

49+1+ K- —ZKQ

www.pakcity.org
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2=18+10

52=28

Since 52 = 28

So it not right angle triangle.

Q.4 Use distance formula to prove
whether or not the points

(1,1),(-2.-8) and (4,10) lie on a

straight line?
Solution:

A(1,1), B(-2,-8),C(4.10)

"

d= le — X Ir: + IJ"-:. — N |“

|B (| = (4+ 2): +{10+ 8):
B C|= \/(ﬁ)"“ +(18)
BCl=+36+324

B C|=+/360

-

|4 C|=V9+81

D>

A C|=+90

A Cb= \/Q:xflﬂ

4 C|=310
|AC|+|4B|=|B C
3V10 + 3410 =64/10
6+/10 = 6+/10

It means that they lie on same line
so they are collinear.

Q.5 Find K given that point (2, K) is
equidistance from (3, 7) and (9,1)

Solution: M (2,K), A(3,7)and B(9,1)
(3,7) (2 K} (9,1)

J(-1) -(k = (?)2+(]—K):
ﬁ’f'aking square on both Side

A+ K +49—14K)“ :( 49 +1+ K> -2K

K*-14K+50=50+K"-2K

K 14K 350 56 K7 +2K = 0

12K = 0
> Y\

12
Lo

Q.6 Use distance formula to verify
that the points

A(0,7),B(3,-5),C(-2,15) are

Collinear.
Solution:

)3

www.pakcity.org
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IHS=RHSSo Www.pakcity.org

They lie on same line and they are

collinear.

Q.7  Verify whether or not the points
0(0,0) A(~3.1).B(\/3.-1) are

the vertices of an equilateral
triangle
Solution:

a = \/II: x|+ |y, x|

|OA|=\/|J§-DZ+|0—]|:

0 A|=~3+1

oy

@é\\?ﬁ 0 B|= \/I 3 - ul +| 1-0f

2 L
<>@ O B|=~/3+]1
;Illlmllllqu 05
O B|=2

A B|:\/{;§“_)ﬁ’r+\—1—1|z

Please visit for more data at: www.pakcity.org

4 B|=J0+(-2)
4.5]=a

|4 B|=

All the sides are same 1n length so
it 1s equilateral triangle

|4 C|= 68
Q.8 Show that the points
|4 C|=V4x17 A(-6,-5),B(5,-5),C(5,-8) and
D(-6,-8) are th ices of
4C|= 2417 (-6,-8) are the vertices of a

rectangle find the length of its
diagonals are equal
Solution:

317 +2V17 =517 d =
17 = 5417 A6

|4 B|+|4 C|=|B C|




7 www.pakcity.or
IA BI =3417 LHS=RHSSo 5 y-0rg

‘ B C,l _ \/‘_ ”_ 3I3 +| 15 _ (_ 5)I: They lie on same line and they are

: : collinear.
=J(-5) +(15+5)
B C|= 25+ (20)
= 0 Q.7  Verify whether or not the points
_ \.1/425 O(D._,U) A(\ﬁ,]), B(\/I"]) are
Y~ the vertices of an equilateral
=V25x17 triangle

B C|= 517 Solution:

d =\, —x[ +|ps -

3|
" el e
na _

N\
)

llllla

Please visit for more data at: www.pakcity.org

| -IH l.l‘\u 4
BamaEr s can: Pl v
A C\=.\{|-2-0f+\15—7|"2 4 Bl‘\/‘“( -2)
_ 4 B| =4
4.C) = (-2) +(8) A4 B|-
) All the sides are same 1n length so
|4 C|=V4+64 it is equilateral triangle
|4 =68
Q.8 Show that the points
|4 C|=4x17 A(-6,-5), B(5,-5),C(5,-8) and
) D(-6,-8) are the vertices of a
‘A L' =2V17 rectangle find the length of its
. diagonals are equal
IA B|+|A ¢ ‘ :IB Cl Solution: - )
W17 +217 =517 d = ‘x:—x,|'+‘y.3—yl|:

sV17 =517 A(-6,-5),8(5,-5)



www.pakcity.org
_ - m--.,IE F o § s *»._IE
|P{R‘= X, +X, = 2X, +(}1+J: 2),

Recognition of the midpoint
formula for any two points in the
plane

Let /) (x, y‘) and P, ( x,, yz) be any
two points in the plane and
R(x,y) be midpoint of point P

and P, on the line segment PP, as
shown in the figure.

x-axis has 1ts midpoi

then, x, —x=x-x,

X,+X =XxX+X

X+ X,

2 OR

Similarly, y =1+ =2\ —x) (- v.)

Thus the point R (X, y)

2x=x+tx,=>Xx=

Please visit for more data at: www.pakcity.org

; !
=|PR|=|RR|=|PR)|

2> 7 2 Thus 1t verifies that
midpoint of the points P, (x,,,) and R[ i Bl ? RS ) 1s the midpoint
P(x,5,) 2 2
s . o of the line segment P;RP; which
Verification of the midpoint lies on the line segment since
formula PR +| PR =|BP,

. fx. +x TR ’
IHRlz.J ' 5 *_IJ "‘(}t 2}' _J"])
\




Exercise 9.3

Q.1 Find the midpoint of the line

Segments joining each of the
following pairs of points
Solution:

(a) A(9,2),B(7,2)

Let M (x,y)the midpoint of AB
X +X, y +Y,

(x:y)= ( 2 2 )

Midpoint formula

A(2,-6), B(3,-6)
Let M (x,y)the point of AB

(2, 5)= [r, + X, ¥, + Vs

(b)

2
Midpoint formula

M (%, ¥)= M[z;z.’-ﬁ?-a]

M(x,y)= M{z _’]fr

M (x,y)=M(2.5,-6)

/

A(-8,]

), B(6,1)

Let M (x.y) midpoint of 4B

v i
(-’f,,}*"): X + X, }’t"'.}:J

. 2 2
Formula
M(x,y)=M[_B:6,1jl)
Z z)
M{x,yv=M ,—
(%.7) [z 7
M(x,y)=M(-11)
A(-4.9),B(-4,-3)

(d)

()

@@) M

Let M (x,y) midpoint'oY Y Apakcity.org

/ | \
X, +X, W+,

.2 72
4

Formula

A(3,11), B(3,—4)

Let M (x,y) is the midpoint of AB

o x 3
h{(r}}]): I]"'xz}..]"‘ﬁ.}‘:]
2 F
(3 11—
M (x,y) =M +3j ] 4]
\
6 —
M(x,y)= M[Z J

'-.I'

(3

-1.5)

@ﬁ A (0, 0) . B (0, -5)

Q.2

Let M (x,y) is the midpoint of AB
-
(x.y)=

M(x,y)=M

X HX Y+ )

. 2 2,
(0+0 0- 5)

.2 2

M (x.y)= M[E _5)

2" 2
— M (0,-2.5)

The end point of line segment ()
is(—3,6) and its midpoint is (5,8)
find the coordinates of the end

point ()

Solution:

(-3.6)

M Q
{5, E} {I IY}

Let () be the point (.x, *}*),M(S, 8) 15

the midpoint of PO

i ,
M (x,y)=| ;xz = ?3 ]
'l.‘.‘ s
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yv=10
Hence point Q is (13,10)

Q.3 Prove that midpoint of the
hypotenuse of a right triangle is
equidistance from it three vertices
P(-2,5),0(1,3) and R(-1,0)

Solution:

X +X, Yy,
( g }) ( J]

2

0(1,3),R(-1,0)
0 R|= \/\1 ~(-1)[ +3-0f
0 &= (1+1)" +(3)

O R|=4/(2) +9=4+9

0 R|=V13
P(-2,5),R(~1,0)

P R|= \/|-2 -(-1)|2 +[5- ﬂf

P Rl=
P R|=26

To find the length of hypotenuse
and whether it is right angle

triangle we use the Pythagoras
theorem

(PR) =(PQ) +(QR)
(V56) = (45 +(V5)

20=13 113
20=26

It is a right angle triangle and PR is

hypotenuse
P(-2,5),R(-1,0)
Midpoint of PR

3 5

— —) P(-2,5),R(-1,0)

Z 2

(ii) M[?,%),R(—I,D)

\ﬁvwz—gakcnty org
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(111)

Hence proved MP = MR=| MO |

Q.4 If 0(0,0),A(3,0)and B(3,5)are

three points in the plane find M;
and M: as the midpoint of the
line segments A5 and OB

respectively find |M M,

Solution:
M 1s the midpoint of AB

+Xx, WV, +V,
M. (LJ")ZM](XI 2.1"#1}, 2}“)

A(3,0),B(3,5)
(3+3 E)

Y 5
k .

5
(8.3
2 2)

i 53)
2

M , 1s the midpoint of OB

¢ ' |
M X, T X N +}'3}

L2 72
0(0,0),B(3,5)

Q.5  Show that the diagonals of the
parallelogram having vertices

A(1,2),B(4,2),C(-1,-3) and

D(-4, -3) bisect each other.

Solution:
ABCD 1s parallelogram which
vertices are

A(1,2),B(4,2),C(-1,-3) D(—4,-3)

Let BDand AC the diagonals of

parallelogram they intersect at point
Y

A(1,2),C(-1,-3) midpoint of AC

Midpoint formula
'S
“ | -‘: + ,r-. _}"‘- + '}'F-'ﬂj
MI(I}_}.-‘): 1‘ 1 I “J
.2 2

www.pakcity.org
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Ml(r!y):Ml

(0 -1 ¢ —1}
M (x.yvY=M,| —. =| 0, —
(x.7) "\ 2 2) ( 2
Midpoint of BD ,

M (I}) M [I1+I yl"‘yE]

ME(I? y)zMz

M:(IJ”):M‘:(E*:!']

| ' 1)
M,(x,y)=M ([} >
y

As M, and M, Coincide the

diagonals of the parallelogram bisect
each other.

0 e
HEENMEEEEN
HEEENEEEEN
LAy By
HEENZaN
a4l l/

*"7i"’
!l >

D=3 3),.
i

R

Q.6

The vertices of a triangle are
P(4,6),0(-2,—4)and R(-8,2).
Show that the length of the line
segment joining the midpoints of
the line segments Pmﬁiﬁ IS

LTS
2

Solution:

M | the midpoint of OR 13

0(—2,-4),R(-8,2)

>

M, (x.y) =M, i —-22— 8 ,wm;w

_ [—_10 2
27

=M, (-5,-1)

M, (-5,-1)

ﬂakcity.org

@vﬁ.

M, (x,y)=M

M,(x,y)=M,

M,(x,y)=M

M, ("2= 4)

the midpoint <;~f PR 15-
P

&
4%

(4 -8 6+2)
2 2

[—4 8
22

2 (_21- 4)

WlM | = I'S

+2F+H+HE

Please visit for more data at: www.pakcity.org

P Q| =(6) +(10)° =/36+100

P Q=136



|P QIZ J4x34
P Q|=234
PO 34
2
OR
%‘PQ‘ =/34

Hence we proved that

‘M1M2‘= %"PQ‘

www.pakcity.org
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Q.1
(1)

(iii)

(1v)

(V)

(vi)

Review Exercise Y

Choose the Correct answer

Distance between point (0, 0) and (1, 1) is

(a) O (b) 1

(c) 2 (d) V2
Distance between the point (1, 0) and (0,1) 1s

(a) O (b) 1

(c) V2 (d) 2
Midpoint of the (2, 2) and (0, 0) is

(a) (1, 1) (b) (1, 0)
(c) (0, 1) (d) (-1, -1)
Midpoint of the points (2, -2) and (-2, 2) is

(a) (2, 2) (b) (-2, '7')
(c) (0, 0) (d) (1, 1@

A triangle having all sides equal 1s called

(a) Isosceles é@%ﬁ%ﬁlene

(¢) Equilateral (d) None of these

A triangle having all sides diff é:@ls called

(a) Isosceles (b) Scalene

(c) Equilateral (d) None of these
ANSWER KEYS

Answer the following which is true and which is false
A line has two end points

A line segment has one end point

A triangle 1s formed by the three collinear points

Each side of triangle has two collinear vertices.

The end points of each side of a rectangle are Collinear
All the points that lie on the x-axis are Collinear

Origin is the only point Collinear with the points of both axis separately

www.pakcity.org

(False)
(False)
(False)
(True)
(True)
(True)
(True)
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w-v  aaud the distance between the
following pairs of points
Solution:

(i) (6 3)(3,, -3)
3), B(3. —3)

! ‘2N z 1|1

|4 BI:JI3—5|: H-3-3)
45=(=3)" +(-6)
|4 B|=v9+36

|4 B| =45
A B|=9x5

4 B|=35

ai)y  (7.5),(1,-1)
A(7.5). B(1.-1)
d=lr,=x[ +]y, i
A B\:\/|?—1\“+|5 (-1)|
AB|=(6) +(5+1)

l'd

(iii)

”+(3)
A B|=V16+9
4 B|=
|4 B|=5

Q.4 Find the midpoint betWiel-Pakeity.org

following pairs of points
Solution:

i) (6.6).(4.-2)
(X +X, Y+,
M(I,}’)ZM .Jill 2;{“ ,yl 2.]’_.
\ Y,
(6+4 6-2
Mlx yv)y=M —_—
(,r_,{y) L 2 2 ]
- 710 4)
M(x,y)=M| —,—
M(x,y)=M(5,2)

(iii)  (8,0),(0,—12)

X)) - M[I +X, Y+, ]

2 7 2
8+0 0—12
M(x.v)=M ﬁ
(x.7) [ e ]
re _
M (x.y) = M 3? 12]
M(:_x, y) = M(4} =6)

Q.5 Define the following
Solution:

(i) Co-ordinate Geometry:-

Co-ordinate geometry is the study
in  the
coordinate

of geometrical shapes
Cartesian plane (or
plane)
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\aag wuninear:-
Two or more than two points
which lie on the same straight line
are called collinear points with
respect to that line.

() Non- Collinear:-
The points which do not lie on the
same straight line are called non-

(vii)

collinear.

(iv)  Equilateral Triangle:-
If the length of all three sides of a
triangle are same then the triangle

1s called an equilateral triangle.

A

2em /S N 2em
Hi"a"‘l O @
B 2em (

AABC 1s an equilateral triangle.

(V) Scalene Triangle:-
A triangle 1s cal a scalene
triangle if measure of all sides are

different,

C 4 B
AABC(C 1s a Scalene trniangle.

(vi) Isosceles Triangle:-
An 1sosceles triangles 1s a triangle
which has two of its sides with
equal length while the third side
has different length.

B 2em C
AABC 1s an isosceles triangle

Right Triangle:-
A tnangle in which one of the
angles has measure equal to 907 1s

called a right tnangle.
A

<«
O

C B
\‘; AABC 1s a right angled triangle

2

A Square is closed figure formed
by four non- collinear points such
that lengths of all sides are equal

and measure of each angles 1s 90°.

A 2em B
RIS, 2ot
(" 2em D
ABCD1s a square.

www.pakcity.org
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Unit 9: Introduction to Coordinate Geometry

Overview

Coordinate Geometry:
The study of geometrical shapes in a plane 1s called plane geometry. Coordinate
geometry 18 the study of geometrical shapes in the Cartesian plane (coordinate plane).

Collinear Points:
Two or more than two points which lie on the same straight line are called collinear
points with respect to that line.

O
Non-collinear points: QQ@

Tow or more points which does not lie on thg\ me straight line are called non-
collinear points.

Equilateral Triangle: "@
If the lengths of all the three §itdés of a triangle are same, then the triangle is called an

equilateral triangle. sl

An Isosceles Triancle:

An 1sosceles triangle PQR is a triangle which has two of its sides with equal length
while the third side has a different length.

Right Angle Triangle
A triangle 1n which one of the angles has measure equal to 90° 1s called a right angle
triangle.

Scalene Triancle: -

A triangle is called a scalene triangle 1f measure of all sides are different.

Square:-
A Square 1s closed figure formed by four non- collinear points such that lengths of all
sides are equal and measure of each angles 1s 90°.

Rectangle
A figure formed 1n the plane by four non-collinear points is called a rectangle 1f,
(1) Its opposite sides are equal 1n length
(i)  The angle at each vertex is of measure 90°
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Parallelogram
A figure formed by four non-collinear points in the plane is called a parallelogram if
(1) Its opposite sides are of equal length
(1)  Its opposite sides are parallel
(111)  Meausre of none of the angles is 90°.

Finding distance between two points.

arallel to y-axis meet x-axis at point M and L
(3, o)and L (x; , 0)

X-axIS
In the right triangle e PNQ ‘NQ‘ =y, - y,] and |f

Usmg Pythagoras theorem
(FO) (PN) (()N)

d = + =0
Taking under root on both side

X, =X,

—
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Since d > 0 always





